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BACHELOR'’S DEGREE PROGRAMME

Term-End Examination
June, 2012

ELECTIVE COURSE : COMMERCE

ECO-8 : COMPANY LAW

Time : 2 hours Maximum Marks : 50
(Weightage 70%)

Note : Answer any five questions.

1. (a) Define a Private Company and give its 6
salient features.

(b) A and B were only two members of a 4
private limited company. Both of them were
killed in a bomb blast. Does this company

cease to exist ? Answer with reasons.

2.  Explain the importance of memorandum of
Association ? Name its clauses. How can the
registered office clause be altered ? 2+2+6

3.  Explain the “Doctrine of Indoor Management.” 4+6

What are the exceptions to this doctrine ?
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4. (a) Under what circumstances can a company 5
issue shares at a discount ?

(b) Distinguish between a member and a 5
shareholder.

5. What is a statutory meeting ? When should it be
held ? Explain contents of a statutory report. 2+2+6

6.  What is the legal position of Directors ? How can 4+6
a director be removed from office before the expiry
of his term of office ?

7. Distinguish between : 5+5
(@) Transfer and Transmission of shares

(b)  Forfeiture and surrender of shares.

8.  Define the term ‘Secretary’ under companies Act. 4+6
State the statutory qualifications of a company
secretary.

9.  Write notes on any two of the following : 545

(a) Minimum subscription
(b) Statement - in lieu of prospectus
(c) Compulsory winding up

(d) Contributory.
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